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2[Option ID=9822]
3[Option ID=9823]
4[Option ID=9824]

Sl. No.57
QBID:133057




TGl slgl & Al
A. g @R &l ggHl IR 31URd T

B. @@ A1cd ell W1l IR YR U]

C. ¢ gD IHATY It |
D. ¢ Odd diudh HHR I

$'0 =1 %S widTd g fdded W <

(A), (B)d (D) BIP I
(A). (B)d (C) dl® I
(B) ,(C)?l D) 3l |
4.(A), (C)ﬁ (D) e A

1) 1
(2) 2
(3) 3
(4) 4

i b =

1[Option ID=9825]
2[Option ID=9826]
3[Option ID=9827]
4[Option ID=9828]

Sl. No.58
QBID:133058

A. 3l YT §R I 3oigeh] H Didl |
B. &I o aHY] [daRURT YHI gI3T|
C. TR HeRl-oHR Ach 9 q@g a1 Ty
D. 9 B R g95i 1 gifedi 9|

3% 1 % oid1d Mg fadbed 7

1.(A), (C)d (D) Bl A
2.(B).(C)d (D) BIF Al

3.(A), (B)d (D) 3l Al

4.(;\), B)?r (C) BlE A1
(1) 1
) 2
(3) 3
4) 4

1[Option ID=9829]
2[Option ID=9830]
3[Option ID=9831]
4[Option ID=9832]

Sl. No.59
QBID:133059




Y drara:

A. T 3fdiid T faRTe SIar 11 U

B. IRER [dR1¢ [aRYRTC 4Hi Uel gIu af f<da- U
C. fsTare & g U

D. & RR& A1 IR Pl WHTG g 3T

37 91 Wg Sdld g fddbed T =

1.(A). (B)d (C) Blb Al
2.(B).(C)d (D) 3I® I
3.(A).(B)d (D) 3I& I
4.(A).(O)d (D) 3IFH I

1) 1

) 2

3) 3

4) 4

1[Option ID=9833]

2[Option ID=9834]

3[Option ID=9835]
4[Option ID=9836]

Sl. No.60
QBID:133060

ﬂﬁ&ﬁ:
A. 3T2asH 7 a1 sg SRd3TI

B. HRdHH 1 Ui Weg s3I
C. JIUTHE = AR g a3

D. SUST - {1 Yeq SRS

23 A1 RS Ta1d g fdded 1M FH1:

1.(A). (B)d (C) &l I
2.(A), (C)d (D) Blh I
3.(B). (CO)d (D) Bl A1
4.(B)d (C)BIFH Al

(1) 1
2) 2
3) 3
4) 4
1[Option ID=9837]
2[Option ID=9838]

3[Option ID=9839]
4[Option ID=9840]

Sl. No.61
QBID:133061




SR ol wifged 1t :

A. UBTId U1 = FHA 3l < WA SRINTA d +ofl IR1 IR = glu
B. Giiell Geri2an A dihiiid g @R g 3= e didil

C. 3P BI S AP HA ¢ Yhdd Hdl SIRI G-I ARTE [

D. 91¢ 9 Td-gR T@d Al o aidb-$ ¢ g S|

37 91 Wg Sdld g fddbed T =

1.(A) d (C)BlH Al
2.(B)d (D) i Al
3.(B).(C)d (D) 3Id 1
4.(A). (B)d (C) 3l I

1) 1

() 2

3) 3

(4) 4

1[Option ID=9841]
2[Option ID=9842]
3[Option ID=9843]
4[Option ID=9844]

Sl. No.62
QBID:133062

SR i ia:

A. SHHFY ¢ T4 & G S f 31 HYf A3 1@ fora diddd 9 glal U
B. SI'Hl @i Wifed T 30! 99awdl os A3 oic |

C. SRl | Hifed = Ug-Ufesd & s df ebige T@d A

D. 9RI-gFG DR & ST 111 Hayul sif¥egia &g |

33 I %S oA Mg fddeq T

1.(B) d (D) 3I& I
2.(A)d (B) Bl Al
3.(A). (C)d (D) BIP A
4. (B). (C)d (D) dl& I

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=9845]
2[Option ID=9846]
3[Option ID=9847]
4[Option ID=9848]

Sl. No.63
QBID:133063




3T

A. 3 dTeed! fedi g S gifedi )

B. &1 WANT S Teet] &1 gl 3id Pidl Sial U
C. Siiq & $Y WeR 9 g doRd &l dIg gle Al
D. HI=T &I ST 9 Tedef &t YT THic 71

3¢ 91 ®g odld HIgd fddbed M

1.(B)d (C)3l& Al
2.(B). (O)d (D) BI® I
3.(A)d (B) i I
4.(A).(B)d (C)3I&H A1
1) 1

(2) 2

3) 3

4) 4

1[Option ID=9849]
2[Option ID=9850]
3[Option ID=9851]
4[Option ID=9852]

Sl. No.64
QBID:133064

Pea] AT d 2t &l WRedl AR
1. eIl “DIdl D d “BIdl Ui dgl-l Wig 9 bad A
2. IRl “GgRT o 31T off 371¢ 7 i §gc a5l Hig 9 Yhad |

3. FEIRI S Ao dge AfEpT dig A
4. Gl & erfdig® fHd faie 71

23 A1 RS Tad Mg fdded 1M FH1:

1.(A),(B)d (C) Bld I
2.(B).(C)d (D) 3I& I
3.(A), (O)d (D) BIP A|
4.(A). (B)d (D) dl® I

1) 1

(2) 2

3) 3

4) 4

1[Option ID=9853]

2[Option ID=9854]

3[Option ID=9855]
4[Option ID=9856]

Sl. No.65
QBID:133065




i :
A. TTHT ¢ dgRP JME SR o HIdl ollg Gdal U
B. 9 forgd o Sy TRal ueRd 9 3fdRe g ol [Rufd g+ Agal U

C. ¥ Yitpidd Yscrdall 1l rjfcd o1l gob =idil gicl Ul
D. digull, §R, Sardrd, SdE SR1 T 3H[ed 93 Bidl iy Jbal U]

$'o TS wia1d 3ATgd fdded W

(A).(O)d (D) Bl® A1
(A), (B)d (D) 31 I
(B). (O)d (D) 3l I
(A), (B)d (C) Bl® I

1) 1
(2) 2
3) 3
(4) 4

S R

1[Option ID=9857]
2[Option ID=9858]
3[Option ID=9859]
4[Option ID=9860]

Sl. No.66
QBID:133066

gt =idl = fa=h iy ufafeed a1 g3 =<t = ol fad vfdfeed 3 ws A a1

EC S
P E i EEEE e
B |9 1L | sgr, Hem, dided
c | L | GHI=I, 3eHIv, HReg
D |® IV. | g1, 3, &8
3¢ A XS Wdld Mg fdded 7 ?fﬁ:

L. (A) ~(IV). (B) —(II). (C) (III} —I)
2. (A) HIID), (B) 1), (C) H1IV), tII)
3. (A)H1V), (B) {1II), (C) (1), (D) (1)
4. (A)—(IV), (B) «I). (C) «(II), (D)—II)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9861]

2[Option ID=9862]

3[Option ID=9863]
4[Option ID=9864]

Sl. No.67
QBID:133067

gt et = o<t Tifed ufafed a1 g2 <<l = fai fod vfafeed wd w3 fiad o

iR ECiRT
1A, |SHIRMEN L | gy yderd
B. |SHlenEn 1 | Idard SgunEdrd
c. |sAfersta 1L |Fyar el ygera
D. |sHIEI§l IV. |Gy Yadra

3¢ 91 s 9aId g fadbed 1

1. (A) ~IV), (B) «D). (C) «II), (D) I
2. (A) H(IV), (B) ~«(ID), (C) ~I), (D) —~III
3. (A) «(III), (B) «IV), (C) «(11), (D) —(I
4. (A) HID), (B) HIID), (C) HI), (D) IV

Sl S L M BN




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=9865]
2[Option ID=9866]

3[Option ID=9867]
4[Option ID=9868]

Sl. No.68
QBID:133068

gt et = foxht Tifed nfafed a1 gg =<l = fai fod fafeed wd w3 fiad o

ECI8 S0
A |dadt L |fpRfedR prasn
B |=E@ il EEIEEEY
C. |ScHdd ®iadl il ESGEE]
D |Tva IV | oo @als 31 e

$'< 1R ST Mg faded T

1. (A) H(IV). (B) II), (C) (D), (D)—{III)
2. (A) D), (B] ~IV), (C) (111, ] (II)

3.(A) (III), (B) —(I). (C) —«IV), II)
4.(A) «(IID), (B) «IV), (C) HI). (II)
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=9869]
2[Option ID=9870]
3[Option ID=9871]
4[Option ID=9872]

Sl. No.69
QBID:133069

gt et = faxit fed ufafeed o g <<t = o< fod vfafed o9 @< fam &

EC1B EEB
A |=Ede g Qau%m IR0 T AU
B. | I |or e weMHl o
c |m® L | 35 918 R 3R U
D |grEsd IV [Gd d-idT UR HYRA U|

$'3 91 %S odTd Mg fdded i g

1. (A) ~«IV), (B) «(III). (C) «I), (D) —~1II)
2. (A) HII), (B) A1), (C) (IV), (D) —(1II)
3. (A) HIID), (B) «I). (C) «II). (D) —IV)
4. (A) ~(ID), (B) 1), (C) «IV), (D) —~III)

11

(2) 2

(3) 3

(4) 4

1[Option ID=9873]

2[Option ID=9874]

3[Option ID=9875]
4[Option ID=9876]

Sl. No.70
QBID:133070




Tigalt et = focht Tifed ufafted a1 g2 =<l = fa fod vfafeed wd w3 fiad o

ECiR! SR
A |TRi 1 | o 2 us T
B. |®aq IL | FiEi eRdl sed °e ]
c. |am=ddt L | fogid del
D. |&ddl v, |det

2 91 s aId Mg fadbed 1

1. (A) —(III), (B) «IV). (C) HII). {D)—(I)

2 (A) HIV), (B) HIII), (C) 1), (D)—1I)
3. (A) D). (B) <II). (C) —(I1I), (D)—{IV)

a. (A) ~(1I), (B) D), (C) ~«IV), (D) ~II)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9877]

2[Option ID=9878]

3[Option ID=9879]
4[Option ID=9880]

Sl. No.71
QBID:133071

Ogelt 9l 7 fa<h Nfed ufafed a1 g3 91 3 fa<h fod wfafeed @d w3 s &

ECIR ECARt
A | dd fear et I | 3EETES o
B. |dR fe=iar um 1L | DYl
c. |wrefedi L. |gEnod
D. |ww.ugdd IV | ogfddd Hds
28 91 s ard 3ATgd fddhed T g1

1. (A) —(II), (B) 1), (C) ~(IV), (D)—{HI)
2. (A)A(IV), (B] III] (C)—(II) —I)
3. (A)1), (B)«1V), (C) (1D, ] II)
4. (A) HIV), (B] III ), (C) (D), (II)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9881]

2[Option ID=9882]

3[Option ID=9883]
4[Option ID=9884]

Sl. No.72
QBID:133072




Tigalt et = focht Tifed ufafted a1 g2 =<l = fa fod vfafeed wd w3 fiad o

ECiA ETART
A @@ L |ueiel @iy
B. |gdT I | g 9es Hoad
C. | gERMHdEsT oL ﬁE 1d ol fRar =
D. | 3wl &l e V. |gARReES

3¢ 91 Fs Wdld Mg fdded 71t gl

1. (A) (ID). (B) «I), (C) «IV), (D) (Il
2. (A)—(IV), (B) —(III), (C) <(II), (D) —(I
3. (A) D). (B)~(IV), (C)HII), (D)—II
4. (A)—(IV), (B) —(IID). (C) 1. (D) —(II
(1) 1
) 2
(3) 3
4) 4

1[Option ID=9885]
2[Option ID=9886]
3[Option ID=9887]
4[Option ID=9888]

Sl. No.73
QBID:133073

gt et = o<t Aifed ufafed a1 gg =<l = fad fod vfafeed wa w3 fiad o

ECiE| ECAR
A |9yt T faRiy glen 1. |awifEd
TR BIGY A DIl
el T ol b
o1 d fed T =i Stee
B oot s 0L |4g9Ed
D. |geudigRiA® Adwcd| IV |[FHe

33 A1 RS Sd1d g fdbed it FHi:

L. (A) ~«ID), (B) ~I1I), (C) «1V), (D) I
2.(A) (D). (B) —(II). (C) —(I1I). (D) IV
3. (A) «IID), (B) HII), (C) «I). (D) IV
4. (A) A1), (B) AI). (C) HIV), (D) ~HIII

11

) 2

(3) 3

(4) 4

o S S s 1A

1[Option ID=9889]
2[Option ID=9890]
3[Option ID=9891]
4[Option ID=9892]

Sl. No.74
QBID:133074




Tigalt et = focht Tifed ufafted a1 g2 =<l = fa fod vfafeed wd w3 fiad o

ECiR! ECiRI
A |l Sie A SRS
B. |ARUI=d 3 i EEEEEED
C. |sEfigHar s IL | 3fiEr Hiee 3
D. |vHfEmieT V. | gA

2 91 s aId Mg fadbed 1

1. (A) —(II), (B) «I1I), (C) «1). {D) —(IV)
2.(A)—~(IV), (B) (1), (C)~IID), (D) (II)
3. (A) ~ID), (B) HIID), (C) —(IV), (D) (I)
4.(A) D), (B) HIV), (C) HIID), (D) —(II)
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=9893]

2[Option ID=9894]

3[Option ID=9895]
4[Option ID=9896]

Sl. No.75
QBID:133075

Ogelt 9l 7 fa<h Nfed ufafed a1 g3 91 3 fa<h fod wfafeed @d w3 s &

ECiRl eI
A | RS NSl I [feeR
M ERUIEE il BRI
C. |Uonwe REid il B
D. |duuunae Maid v, |emad
3¢ A1 RS WaTe Mg fddbed 7 FHl:

1. (A) (D), (B) —(II). (C) (IH) (D) IV
2. (A) ~(IT), (B)—(HD —(IV). (D)1
3.(A)(I0D), (B) ~(IV), (C)—{H) (D) (I
4.(A) (11D, (B) «ID. (C) «(D), (D) IV

11

(2) 2

(3) 3

4) 4

)
)
(I)
)

1[Option ID=9897]
2[Option ID=9898]
3[Option ID=9899]
4[Option ID=9900]

Sl. No.76
QBID:133076




TAGIATIH, FIsTdd, [ o hacdl Wss ¢ 39 HH d WIE 3¢l T 9 93T & ST, ] o IR
I a1 RS $H T

A. UG Y +4Td FYUMH + R + TR SUIH
B. SUGT UM+ ¢Td FUUH

C. AT E I + IR =0

D. HAT] E AT + HEHH | EGUTH + 4T EIUTH

273 91 s HH g faded W Ak

1. (B), (A), (C), (D)
2.(A), (C), (D), (B)
3.(0). (D), (B).(A)
4.(D).(A), (C),(B)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9901]

2[Option ID=9902]

3[Option ID=9903]
4[Option ID=9904]

Sl. No.77
QBID:133077

YT fohaTfa=I=r, foafa==IT URE, T3l + 3T < [a=I + I & 38 Y ¢ Tld 3°¢ &d a1 ¢ ANTH
ERICEP R LAY

A. fed=udt

B. S} AR

C. Ugd ari

D. Sg-q

33 91 %S DA e [debed 0

1.(D).(B). (A).(C)
2.(B),(0), (A), (D)
3.(A) . (D), (C),(B)
4.(C).(A), (D). (B)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9905]

2[Option ID=9906]

3[Option ID=9907]
4[Option ID=9908]

Sl. No.78
QBID:133078




AERY WS, S Sl ¢ ot g1 feargr, S d <1d A1ed 1oy I & 39 64 ¢ ©ld 3¢ S ¥4 &l B
AT

A Tld
B. Wedhld
C.IoTd

D. 7
23 91 RS HH g faded W g

1.(A).(C), (B).(D)
2.(B),(C), (A). (D)
3.(D),(A), (C).(B)
4.(C).(A), (D). (B)
(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=9909]

2[Option 1D=9910]

3[Option ID=9911]
4[Option ID=9912]

Sl. No.79
QBID:133079

Db o, D, 3o Fell Usl FRed d 1T < Jid deld < 39 H ¢ 'id 341 Qferd a1 &g hH U
A. gurfardl

B. HAIIR[ERHTED
C. JdIpTHD
D. AT Qe

273 91 s Y g faded 1

1. (D), (A), (C),(B)
2.(B).. (D), (C), (A)
3.(0), (D), (A).,(B)
4.(A).(C), (B). (D)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9913]

2[Option ID=9914]

3[Option ID=9915]
4[Option ID=9916]

Sl. No.80
QBID:133080




R, T, G- o =51 U & 38 hH ¢ Wld 5°¢ UBIRF §1 al Ty HH U

.2017
.2016
2019
2022

o0 wp

3% 91 &3 ¥ Mg faded 1t A

1.(A).(B), (O). (D)
2.(C), (B), (A] (D)
3.(D).(C), (B). (A)
4.(B).( ], ),{C.}

(1) 1

() 2

(3) 3

(4) 4

1[Option ID=9917]

2[Option ID=9918]

3[Option ID=9919]
4[Option ID=9920]

Sl. No.81
QBID:133081

R 1, JHE-LH, G O d T ¢ 918 J&ID ¢ 38 $H ¢ ®Id 3°¢ o al Ty $hH U

A. Zaoild PR
B. IS Affd
C. 3 g

D. &0 (g

93 IS A Mg fdded 1 <

1.(A).(C), (D). (B
2.4 (A) C). (B
3.4(6) B). (A
4.(B). ] A), (C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=9921]

2[Option ID=9922]

3[Option ID=9923]
4[Option ID=9924]

Sl. No.82
QBID:133082

QRERTEIE! FANTard], HAIfasHe o didb Al ¢ Aled ol s $H U

A. SFR

B, i ol o
C.

D. STl Gl

273 91 s Y g faded W

1.(C). (D), (B).(A)
2.4A); (C] (D]. (B
3.(B).(D). IA]. (C)
4.(D). (B] C). (A)

[OR!




) 2
3) 3
(4) 4
1[Option ID=9925]
2[Option ID=9926]

3[Option ID=9927]
4[Option ID=9928]

Sl. No.83
QBID:133083

g THER <. Tad el °9i$ul d IRES] T &1 a1d < 3¢ 4 3731 Tog HH U

A. FAIARRIRHATE] guridare
B. 3ffcauriarg
C. 3fexarg

D. 3w drdrg
23 91 %3 W ATgd fddeq Tt I

1.(D).(B), (A), (C)
2.(A),(B), (OC), (D)
3.(C), (D), (A), (B)
4.(B).(C). (D). (A)
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=9929]

2[Option ID=9930]

3[Option ID=9931]
4[Option ID=9932]

Sl. No.84
QBID:133084

P AL, Gl g AL TR BT d U YA HEIR & 39 PH S B 3¢ A A ®S vA T

A. TSI3-3FTST UTg b
B. 98 $8 F1d S8 Bl
C. TR DA

D. dTd] B=Al

38 1S A STgd fdded T FHl:

1[Option ID=9933]
2[Option ID=9934]
3[Option ID=9935]
4[Option ID=9936]

Sl. No.85
QBID:133085




il Uel g1, SiTS &l g, WiRT FUI O I SaR e 91T € Hd wddh al T $hH U

A. IR TS
B. I YD
C. 4aTd e
D. HEI4dI &dl

$0 =1 %S A e faded i <

I (A) (B) (C), (
2.(B). (D), (A).(
3. (D) (B) (C). (A)
4.(C). (D), (A).(

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=9937]
2[Option ID=9938]
3[Option ID=9939]
4[Option ID=9940]

Sl. No.86
QBID:133086

20 al DU AT TS 1 3P (A) SEU AT MRS B d g311 (R) o A1 PRI T
YR (A):  GaTRI It = SITRT 11 ferad s =1 e fA4Rd $id 71 9, 1R 39 dTaulg df o

I 3HEUAl ¢ 2T Y SRPIR U

A9 (R):  I= d gaIe YR ARG S (--) d (8) &l W §4 ¢ 7 34< d1aoa o 9Hi=1 #gTii) e &
AN 4% &l 3 gdl 9 h1ac g4l Ul

$'¢ 91 Wws oard 3ATgdl fdded T I

1.(A)d(R) TIUBIFHA(A). (R) qT s PRUTT
2.(A)d(R) TRIHAD(A). (R) &l s DR g U
3.(A) 3P UT (R) Ted UJ

4.(A)Ted Ud (R) Bl U|

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=9941]
2[Option ID=9942]
3[Option ID=9943]
4[Option ID=9944]

Sl. No.87
QBID:133087




20 al PUYT AT TN A1 3P (A) IEU AT F=aIdHD DU d gl (R) o A1 SR T
Y (A):  SIRI agTl & Wkl = gl ¢ 1 Wl -3y = 6 7 d 3t HIi-edt ot 3°¢ Adiad

gadls al U

A9 (R):  SFRI = TGS BRG] 2l-Dheed dl T aR U3 = &1 S 71 foh=1 @l 3¢ 80 71 Wiga A
QR Hd U1deh 3711 Fgiil Az Y ATeaR |

28 91 W@ olard ATgd fdded T I

1.(A)d(R) TIUBFHA(A), (R) qTHs PRUTT
2.(A)d(R) TRAIHAT(A). (R) &l s DR g U
3.(A)BIH UT (R) TTed T

4.(A)Ted Ud (R) Bl U|

11
(2) 2
(3) 3
(4) 4

1[Option ID=9945]
2[Option ID=9946]
3[Option ID=9947]
4[Option ID=9948]

Sl. No.88
QBID:133088

86 &l DU e T1d 71 3b (A) SERH AT Fgaé® YU d g3 (R) T A1 BRI T
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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R
A 14.30% T 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

3 aIftionT & ©% Y61 A-F 8 Of0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8 dF
ATST P, Q 3R R &1 Si0Td a1 T4 8 | 54 We § &l 5 BRI &1 Hel W&l 90,000 § | AT &
HHSI P YR UR Y P 3R el |

TTER (& T8 BRI BT [ (%) i T STl o1 ST
P Q R
A [1430% 7 7 4
B [16.20% 2 5 B
C |1840% 3 3 4
D  [16.80% 4 3 B
E  [12.60% 2 2 1
F  |21.70% 3 2 5

What is the number of Model-Q cars sold in all cities together?

1. 31255
2.31355
. 31455
. 31555
(1)1
) 2
(3) 3
(4) 4

i 2l 1 g e Aisd @1 8 7IE BRI B W AR 2

L

1. 51235
2.31355
3.31455
4. 31555
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(4) 4

1[Option ID=13201]
2[Option ID=13202]
3[Option ID=13203]
4[Option ID=13204]

Sl. No.102
QBID:5201002




The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R
A 14.30% T 7 4
B 16.20% 2 5 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

3 aIftionT & ©% 61 A-F 8 O10f0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8§ dF
TS P, Q 3R R &1 Si0Td a1 T4 § | 4 We J &l 5 BRI &1 Sel Sl 90,000 § | AT &
HHS P YR IR Y B IR aliord |

X (& T @RI @I faa (o) e TQ H{Sl I S
P Q R
A [1430% 7 7 n
B [1620% 2 5 B
C |1840% 3 3 n
D [16.80% 1 3 B
E  [12.60% 2 3 1
F  |21.70% 3 2 5

What is the difference between Model-P cars sold in city-D and city E ?

2184
. 2204
. 2204
. 2244
(1) 1
(2) 2
(3) 3
4) 4

eI D AR YR E Sl oisa p R & dg o1 Sili 1 8 2

b=

I ¥

1.2184
2.2204
3.2294
4, 2244
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=13205]
2[Option ID=13206]
3[Option ID=13207]
4[Option ID=13208]

Sl. No.103
QBID:5201003




The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R

A 14.30% T 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

3 aIftionT & ©% 61 A-F 8 O10f0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8§ dF
TS P, Q 3R R &1 Si0Td a1 T4 § | 4 We J &l 5 BRI &1 Sel Sl 90,000 § | AT &
HHS P YR IR Y B IR aliord |

X (& T @RI @I faa (o) ?ﬁwqiﬁﬁ 1R
A 14.30% g 7 4
B 16.20% 2 3 2
C 18.40% 3 3 4
D 16.80% 4 5 2
E 12.60% 2 2 1
F 21.70% 3 2 >
The number of Model-P cars sold in City D is approximately % of the number of Model-R cars zold in
City A

1.145

2.185

3.83

4,235
1)1
(2) 2
(3) 3
(4) 4
g D ¥ fa®! Aisd p SR & T e A H foo! Bisd R BRI &1 T@ &1 aTHT o Ufa<id (%) § 2

1. 145

2.185

3.83

4.235
1)1
(2) 2
(3) 3
(4) 4

1[Option ID=13209]
2[Option ID=13210]
3[Option ID=13211]
4[Option ID=13212]

Sl. No.104
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The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R

A 14.30% T 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

3 aIftionT & ©% Y61 A-F 8 Of0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8 dF
ATST P, Q 3R R &1 Si0Td a1 T4 8 | 54 We § &l 5 BRI &1 Hel W&l 90,000 § | AT &
HHSI P YR UR Y P 3R el |

X (& T @RI @I faa (o) ?ﬁwq%ﬁﬁ 1R
A 14.30% T 7 4
B 16.20% 2 3 2
C 18.40% 3 3 4
D 16.80% 4 5 2
E 12.60% 2 2 1
I3 21.70% 3 2 %
Number of cars sold in City F is approximately % more than the number of cars sold in City B
1.13
2.34
3.2
4.27.5
1) 1
(2) 2
(3) 3
(4) 4
e F T o] SRI B 96 UER B H a4l T3 BRI 3 T ¥ T4 fdha uiawrd (%) st g 2
1.3
2.34
3.21
4.275
1) 1
(2) 2
3) 3
4) 4

1[Option ID=13213]
2[Option ID=13214]
3[Option ID=13215]
4[Option ID=13216]

Sl. No.105
QBID:5201005




The following table shows (1) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Cire 4 Distribution of| Proportion of Car Models Sold

i Sold Cars P Q R

A 14.30% T 7 4

B 16.20% 2 5 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

3 aIftionT & ©% Y61 A-F 8 Of0 BRI &1 58-I &1 (i) W= (%) faawor 3R (ii) 57 941 75 R 8 dF
ATST P, Q 3R R &1 Si0Td a1 T4 8 | 54 We § &l 5 BRI &1 Hel W&l 90,000 § | AT &
HHSI P YR UR Y P 3R el |

TTER (& T8 BRI BT [ (%) i T STl o1 ST
P Q R
A [1430% 7 7 4
B [16.20% 2 5 B
C |1840% 3 3 4
D  [16.80% 4 3 B
E  [12.60% 2 2 1
F  |21.70% 3 2 5

What iz the ratio of the number of cars sold in City C to the number of Model-Q) cars sold in City D?

19:5
27:8
237
.33:10
1) 1
@) 2
3) 3
(4) 4

IR ¢ B 91 715 BRI B e 3R R D 1 Hisd Q 3 fiot &R &1 Wen & 9 &7 siua d1 g 2

19:5
278
237
.33:10
1)1
(2) 2
3) 3
(4) 4

bt

L

e el

1[Option ID=13217]
2[Option ID=13218]
3[Option ID=13219]
4[Option ID=13220]

Sl. No.106
QBID:5201006

Which of the following techniques is recommended for approaching and disciplining a student who may be
prone to explosive behaviour?

. Move swiftly and get as close to the mishehaving student as possible.
. Ensure that there are several witnesses to the confrontation.

3. Be respectful, brief but assertive.

4. Use a loud voice to establish power.

b =

1)1
(2) 2
(3) 3
(4) 4




ﬁ?ﬁﬁ;ﬁ%ﬁ%ﬁﬂ@ﬂﬁﬁﬁéﬂﬁuaﬁaﬁw@w@mmﬁaﬂ%ﬂﬁaﬁﬁﬁmmaﬁm
DI G 2

1. T Td HHE SHdeR H- aral faeneff & gur Tug Fde g1 o |
2. T8 GHTYd o Tob T € & THY 3 e 8 |

3. GHMYAD, 989 H IR Teargded §1d o |

4. Yfad WY B & 11U FHl SH1ars BT I a1 |

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13221]
2[Option ID=13222]

3[Option ID=13223]
4[Option ID=13224]

Sl. No.107
QBID:5201007

Ishita had been practicing her multiplication tables for weeks before her yearly test. She knew all her facts
completely. This type of knowledge that Izhita now has attained does not require attention and concentration.

This process is known as which one of the following ?

1. Flashbulb memory
2. Schema
3. Automaticity
4, Procedural memory
(1) 1
(2) 2
(3) 3
(4) 4
SIRrar 3ol aiftfes oRier © Use g9l 9 UBTS] &l 34T ®R el Al | 98 IR awl &l O3 avg 9 o ot
| ST 31 S YR &1 I Ui {51 & 398 &4 S 3R biad $3- &I Aawhdhdl el eidl ¢ | 59
Yihar ! FE T 3 g SU E AET S g 2

1. BiY-ged Fid
2. THHT
3. TRl

4. yisparers wfd
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=13225]
2[Option ID=13226]
3[Option ID=13227]
4[Option ID=13228]

Sl. No.108
QBID:5201008

Match List I with List IT :

LIST I (MOOCs Four Quadrant LIST II (Component)
approach)
A, |Quadrant - I L e-content
B.  |Quadrant - IT I |Self-assessment
C. |Quadrant - ITI III.  |e-tutorial
D |Quadrant - IV IV.  |Web Resources

Choose the correct answer from the options given below :

. A-IIL B-IV, C-I, D-II
. A-IV, B-I, C-III, D-II
. A-IL, B-I, C-IV, D-II
. A-IV, B-II, C-III, D-I
)1
(2) 2
3) 3
(4) 4

R O R




il 191 gl 11 ¥ [ Sifere

aﬁh 1 (H@ & 91 UTS STHTH) el 11 (UCH)
UG 1 L [g-3idds

B. [UGm I [&G-Hdidd

C. [ggIm L [3-=geihad

D. [gE1v V. |49 G

fafeiad fameal & 9 98l IR &l 9 S -
1. A-III, B-IV, C-I, D-II
2. A-TV, B-I, C-IIL, D-II

3. AJIL B-L, C-IV, D-II
4. ATV, B-II, C-III, D-1

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13229]

2[Option ID=13230]

3[Option ID=13231]
4[Option ID=13232]

Sl. No.109
QBID:5201009

Match List I with List IT

LIST I (Behavioural Models) [LIST II (Developers / Redevelopers)
A [Mastery learning I |Carl Smith/Mary Smith
B Grrnisee I Benjamin Bloom/James
Black
C.  |Social learning III.  [BE. Skinner
D Programmed sc_hedule (task v |Albert Bandura'Carl
performance reinforcement) * |ThoresenWes Becker

Choose the correct answer from the options given below:

1. A-IV, B-I, C-II, D-III
2. A, B-I, C-IV, D-III
3. AL B-IV, C-1, D-III
4. A-IV, B-1, C-III, D-II

1) 1

(2) 2

3) 3

“ a

el 191 gl 11 1 T Sifore
T 1 (TTERTES A18eH) '{zﬁmﬁarraﬁrfgﬂﬁﬁmﬁ
A |udiorr sfee [Te Ry E Y
B. |3Euum I [FeleH sH S S
C. |G sifee I [6 Uh. R

D | RS ST @/ | [ (SR SqU/ETd URE/aE
B G R S AR B GER

FFafoRad famegl & I Ug! 3R &1 90 BT

1. A-IV, B-I, C-II, D-III
2. A1, B-I, C-IV, D-III
3. A-IL, B-IV, C-1, D-III
4. A-IV, B-1, C-II, D-II

11

(2 2

3) 3

(4) 4

1[Option ID=13233]

2[Option ID=13234]

3[Option ID=13235]
4[Option ID=13236]

Sl. No.110
QBID:5201010




Given below are two statements :

Statement I : Sensory memory is that memory which helps an individual to recall something immediately
after having perceived it.

Statement IT : Semantic memory is that memory which helps in storing as well as retrieving a collection of
relationships between events or association of ideas.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement I is incorrect.
4. Statement I 1s incorrect but Statement I is correct.

(1) 1

(2) 2

(3) 3

(4) 4

[ SR

TY9 1. TG TG 9% TG & S 5 Ot B A A 3Wa & dohiel 3H G TR0 S & Jeradl
A T

Fua 11 37 & 0 o5 w@fd § S oigearsd 39ar Reant & Seg & &9 & a9y & HuT & AR g
QeI & HEIAT ARl ©

SR DU P Helled 3, A G0 77 fhedl 5 T Hadl SUGD IR T T hITaiv:

1. 7= 137 nE= a8 &

| ]

. Hae 13 neEt e €
3. %Y 199 & afea oud o &

4, U= 19760 &, AThT BT [ TE &I
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=13237]
2[Option ID=13238]

3[Option ID=13239]
4[Option ID=13240]

Sl. No.111
QBID:5201011

Given below are two statements :

Statement I : If we accept a hypothesis when it should be rejected, we say type [ error has been made.
Statement IT : If we reject a hypothesis when it should be accepted, we say type II error has been made.
In the light of the above statements, choose the most appropriate answer from the options given below ;

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4. Statement I 1s false but Statement IT 1s true.

1) 1
(2) 2
3) 3
(4) 4




FYT - T & T ¥ UTadheus o TR BYd § oW 3Edigg fher ST aifeT g9 '/ O% A 9ad
€ fop sudt arsu 1 3 o= &

FYT 11: 77 &1 v I ueeu= &7 3TAER wRa & oais 5§ TeR B smer @iy, g9 = 9w A=
god € 5 ot Tsw I g T mh €

SWIh @YU P elleh H, A fGw oW fehetl & §HIH UG ATl =99 HIfAw:

1. %y 13k 124 e €

(o8]

o 13k neEt sme €

3. U 19T &, ofta waa 113/@0T §)

4. U 130T &, dfheT Y= T acy &I
(1) 1
() 2
(3) 3
(4) 4
1[Option ID=13241]
2[Option ID=13242]

3[Option ID=13243]
4[Option ID=13244]

Sl. No.112
QBID:5201012

Which of the following softwares are used for checking plagiarism?

Turnitin
e-view
Scopus
Urkund
Quetext

mO 0wy

Choose the most appropriate answer from the options given below :

1. A Band D only
2.B. Cand E only
3.A,Dand E only
4.C.D and E only

11

@) 2

3) 3

4) 4

giiefde TRl @1 wig T4 & fau 9 5 9 {559 araedgRi &1 wai féar oar g 2

A TR
B. 50
C. WUy

D. RFS
E. Bcqe

i U U fapedl & ¥ Fad SugE SR B 997 BIo:

1[Option ID=13245]
2[Option ID=13246]
3[Option ID=13247]
4[Option ID=13248]




Sl. No.113
QBID:5201013

Which of the following methods are used to measure reliability in research?

Chain-referral zampling
Test-retest

Split-half

Inter-rater

Judgemental test

mOnwps

Choose the correct answer from the options given below :

1.A, B and C only
2.A.Dand C only
3.B. Cand D only
4. C,D and E only

11

2) 2

(3) 3

(4) 4

ey H 2g-igan &1 719 & fore e # 9 feoe1 fafat &1 it fopan S e 2

A ggar gaiid wia=sae
B. Wi9-G: Wi F

c. fayaarg

D. diafFuRe EeRex)
E. g 010 o=

=1 feu e fasedl o 9 9el 3Tk &1 98 ol

1.$ad A, B, C
2. Pad A, D, C
3.%ddAB, C.D
4. $90C,D,E

) 1

(2 2

(3) 3

(@) 4

1[Option ID=13249]

2[Option ID=13250]

3[Option ID=13251]
4[Option ID=13252]

Sl. No.114
QBID:5201014

Given below are two statements :

Statement I : t-tests arc appropriate only when the dependent variables being measured are continuous.
Statement IT : Chi-square statistic allows us to test hypotheses using both continuous and ordinal data.
In the light of the above statements, choose the most appropriate answer from the options given below ;

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement I are false.
3. Statement I is true but Statement II s false,
4. Statement I is false but Statement I is true.

(1) 1

(2) 2

3) 3

(4) 4




TR e R E:
FYA : t-% PHad a4l IUY gId § oid JNud T R Jad of |

Eﬁﬂ%u:arémm@ﬁﬁsﬁ HAd AR PHYID HNBS! &1 DT TAN B AaHe B ofid PR
e |l

IRIF FYH & TS 1, A1d [2U U [aHedi T U ol SR H1 90 P I
1. Y1 AR 11 S Gd gl
2. FUA 1 AR 1A ST B

3. PYT 1 I 8, A PUT 11 3T B

4. DY ITA 8, AP FUT I T B
1) 1
@ 2
(3) 3
(4) 4
1[Option ID=13253]
2[Option ID=13254]

3[Option ID=13255]
4[Option ID=13256]

Sl. No.115
QBID:5201015

Given below are two statements :

Statement I : UGC-CARE list includes all the scopus, web of science, and MLA indexed journals.
Statement IT : Open Access Journals are predatory journals.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

4) 4

i & P fRu MY §:
FU I : Toi1-TTUaRE gt & et Woivy, 39 3t A5 SiR Iy gHies - Ma eh § |
FYF 11 : Gl AFTH A geR oHa el © |
SIRITd Y & e 7, 12 U v fadedl § @ |l 5o &1 <o & e
1L FFAISNRIGH A ¢ |
2. FUA 1 AR 1 HT AT |
3. DU A &, Wip HYF I ST B

4. DY ITA 8, AP YT I TT B
1 1
) 2
@3) 3
(4) 4
1[Option ID=13257]
2[Option ID=13258]

3[Option ID=13259]
4[Option ID=13260]

Sl. No.116
QBID:5201016




The people's preconceptions and frames of reference, and spreading one's own limited attitudes towards issues
and images result in:

1. Stable identity
2. Social harmony
3. Positive public opinion
4. Stercotypes
(1) 1
(2) 2
3) 3
4) 4

R 1 gaeRonSH, TgH & RRI iR gal d Biadi & uid 37 9 Uit siftgkul & TR o1
frafafed o 9 @ o ghar g 2

R ugEH
. ST 9igTe

JHRIHD A
1) 1
(2) 2
(3) 3
(4) 4

B O I

1[Option ID=13261]
2[Option ID=13262]
3[Option ID=13263]
4[Option ID=13264]

Sl. No.117
QBID:5201017

In mass communication the audience is:

1. Identifiable
2. Relatively small
3. Heterogeneous
4. Homogeneous
) 1
(2) 2
(3) 3
(4) 4

o TR I gl Fefefaa S AR rsia g 2

PR
. 3UETEHd HH G=A1 1
fawmedt
gHzUl

e

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13265]
2[Option ID=13266]

3[Option ID=13267]
4[Option ID=13268]

Sl. No.118
QBID:5201018

The meanings of visual images depend much on:

Individual perception

Social perception

Political links

Economic benefits
Representational Connections.

mUnwps

Choose the correct answer from the options given below:

A, Band C only
.B. Cand D only
3.C.D and E only
4. A, B and E only

b =




1) 1
(2) 2
(3) 3
(4) 4

e fia & o A T ¥ A R el Rk a=d g 2

A. dufga® 9y
B. IS 91y
C. oA 9ud (fdw)
D. 3filep gfdemy
E. mifaffie &y
=i fCU T fas el O 9 9g1 STR &1 98- SIieig:

1.$GAA, B, C

1[Option ID=13269]
2[Option ID=13270]
3[Option ID=13271]
4[Option ID=13272]

Sl. No.119
QBID:5201019

Given below are two statements :

Statement I : The right to communicate can prompt the emergence of negative liberty though its positive
impact cannot be overlooked.

Statement IT : The hidden impact of free market place has diluted the concept of free speech to suit the
corporate ends.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false,
4. Statement I 1s false but Statement I1 1s true.

1) 1
(2) 2
(3) 3
(4) 4

e @ Py fag Mg @

FHUF 1 - GO0 BT AIHR TSRS WdFdl & 380 &1 URd T IJ&dl ¢ T4 595 ISRIAD UHd &I
T TRl fPm ST IHar e |

PYF 11 : o SR R &b USH FHIG 3 DRURE U&dl & 3FY a1 Wid=g DI SR DI gD DR
e |
JURIG DY o el 0, i< (4T MU [dpedl T oI5l 3 &1 94 Hifolt:

1. BYT1 AR 11 S Gd g

CHYA AR I EH 3T |

PYT I I, AP PUT I TA R |
PUT I ATI S, AT PUT I TS |
) 1

(2) 2

(3) 3

(4) 4

ES PV O]

1[Option ID=13273]
2[Option ID=13274]




3[Option ID=13275]
4[Option ID=13276]

Sl. No.120
QBID:5201020

Given below are two statements :

Statement I : The capacity of words need not have any connection with truth.

Statement IT : There is a human tendency to conceal facts and suppress the truth while communicating.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement II is correct,
(1) 1
2) 2
3) 3
(4) 4

1 & Y T U §: U SHUSYT (Assertion A) & F9 T ARG ¢ ol G3R1 39 BRUI (Reason R) P
TOT:

SUHYT A : Uea] D1 4T T T $ 1Y Dis Y8 &1 a0 el ¢ |
HRUTR : TN B THT T2} B TN 4R T Bl SqH1 AFAG Ygio g |
SR Y & 3fTeliep 1, =i f3U Y faspeul § U a8 Suged IR &1 90 Bifol |

LAIRREA TSI € IR R, AT el AR © |

ASRREFAI TS, AP R, AT G TR R © |
3 ATSI e AR GBI Aol & |
4 ATEI TR g APARTRI G |

1 1

2) 2

3) 3

(4) 4

[ SR

1[Option ID=13277]
2[Option ID=13278]
3[Option ID=13279]
4[Option ID=13280]

Sl. No.121
QBID:5201021

Find out the third common term between the two given Arithmetic Progression (AP) series given as
3,7, 11, 15, and 1, 6. 11, 16,

.31
.43
3.51
4. 47
1) 1
(2) 2
(3) 3
(4) 4
fFmifera & =0 o &l <1 it gaR il (udh & He R E U &l 9id Biferg
3 T8
3R

1,6,11,16 .........

rJ =

.31
.43
3.51
4,47
1) 1
(2) 2
(3) 3
4) 4

[

1[Option ID=13281]




2[Option ID=13282]
3[Option ID=13283]
4[Option ID=13284]

Sl. No.122
QBID:5201022

A person can do a piece of work in 18 days. After working for 12 days, the person leaves and another person
joins and completes the remaining work in 8 days. In how many days this 2nd person can complete the whole

job?

.20
. 24
22

18

b =

e o

1) 1

@ 2

(3) 3

(4) 4

e dfad e o1d @1 18 AT H ax g@dl ¢ | 12 f&T 9o &l 3= & uyid a8 oafdd &1l &1 8is Sdr g
SR GIRT AT BT B HAT URY BT ¢ a1 A S &1 8 a1 H QI &= ol ¢ | I8 T3 oAfekd 38 X
aﬁmﬁﬁmﬁﬁmﬁ{ﬂmm%?

20
24
22

18

FompEe

]

1) 1
) 2
(3) 3
(4) 4
1[Option ID=13285]
2[Option ID=13286]

3[Option ID=13287]
4[Option ID=13288]

Sl. No.123
QBID:5201023

The average salary of 25 workers in an office is Rs. 6,000 per month. If the salary of the manager is added, the
average becomes Rs. 6,200. What is the annual salary of the manager?

1. 73.200
2.1,34,400
3.1,58,600
4.1,03,200

11

(2) 2

(3) 3

(4) 4

fepelt sratery & @ik 25 w4t &1 Sird a7 6000 9 UFawTS 8 | aft S vey® @1 a7 i s
fear SiTaT € d U8 37 6200 94 ©1 ST § | 9@ &1 alfie 9d- [ba g 2

73,200
1.34,400
1,58,600
1.03.200

L

L

11
(2) 2
(3) 3
(4) 4
1[Option ID=13289]
2[Option ID=13290]

3[Option ID=13291]
4[Option ID=13292]

Sl. No.124
QBID:5201024

In what time a sum of money will double itself at the rate of 8% per annum simple interest?

1. 10.5 years
2.12.5 years
3. 9.5 years

4.11.5 years




g U IR 8% Hfdas HYRU &S D1 &R © e 909 & 1 & ogt 2

1[Option ID=13293]
2[Option ID=13294]
3[Option ID=13295]
4[Option ID=13296]
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A shopkeeper sold two articles at Rs. 12,000 each. He sold one article at a profit of 20% and the other one at a
loss of 20%. What is the net gain or loss to the shop keeper?

1. Aloss of Rs. 1000
2. A gain of Rs, 1000
3. Aloss of Rs. 3,000
4. Aloss of Rs. 1,500

(1) 1

(2) 2

(3) 3

(4) 4

Tl gMeR- gl aegsll § 9 Ud® I 12,000 YT H &1 | GH UD T DI 20% P o1H W &1 U4 G831
TE] Pl 20% 1 I W 41 | GHHEAR Bl el o1 1 81 [ g 2

1. 1000 39U B 81
2. 1000 39T HT ATH
. 3000 ¥9Y B g1H
. 1500 39U B g1H
1) 1
(2) 2
(3) 3
(4) 4

ES Y

1[Option ID=13297]
2[Option ID=13298]
3[Option ID=13299]
4[Option ID=13300]
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Which informal fallacy is committed in the following argument - "Scientists have been trying for centuries to
disprove the claims of astrology, and none of them has ever succeeded. Therefore, we must conclude that
astrology's claims are true" ?

1. Slippery slope
2. Hasty Generalization
3. Aurgumentum ad Ignorantian (appeal to ignorance)
4. False Cause
(1) 1
2) 2
(3) 3
(4) 4




fafafad gffa & @ o1 sAeie ab-aiy & - il I e Safay & a6l @ \fsd B 10
aﬂﬁg%% 3R 3H A B1g ot Ffi 9 a A8 gan § | o B8 My MdpTa 91y i wifaw &
JaE?

1 ﬁ?ﬂﬂﬂgﬂﬁmm (CERESIE)

1[Option ID=13301]
2[Option ID=13302]
3[Option ID=13303]
4[Option ID=13304]
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Which of the following propositions can be directly inferred from the statement - "All mammals are four-

legged animals?

1. All animals are four-legged mammals.
2. No four-legged mammals are animals.
3. Some mammals are four-legged animals.
4, All four legged animals are mammals,
(1) 1
(2) 2
(3) 3
(4) 4

?Eﬁfﬂiﬁﬁ ufcRIGrl B 3 [Gae! 38 SYH 9 Yaard: S (681 ol 9ol § - 9 T-aR] 9w ug)

1. oft Uy S AR E |
2. B +ff T TR R R
3. 79 WAYR ST 9 | |
4.mﬂa’1trmm%ﬁ:fw%|
) 1
(2) 2
(3) 3
(4) 4

1[Option ID=13305]
2[Option ID=13306]
3[Option ID=13307]
4[Option ID=13308]
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Which of the following statements is contrapositive to the following statement - "Some dogs are not

aggressive animals"?

1. Some aggressive animals are not dogs.
2. Some dogs are aggressive animals.
3. Some non-dogs are aggressive animals.
4. Some non-aggressive animals are not non-dogs.
(1) 1
) 2
(3) 3
(4) 4

e eyl § € o 91 Fefifad $yF & 9iiuRalid § - $© o seme ug el 8 2

1. S SAIBTHD U Pl 61 ¢ |

2. TS T SMhIHD U |

3. T8 IR-FW SMHMHS 9 ¢ |

4. TF IR-ATHHS 9 R-F RIS |
(1) 1
(2) 2
3) 3




4) 4

1[Option ID=13309]
2[Option ID=13310]
3[Option ID=13311]
4[Option ID=13312]
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Which of the following statements are contradictory to each other?

A. All objects are perishable,

B. Some objects are not perishable.
C. Some objects are perishable.

D. No objects are perishable.

Choose the most appropriate answer from the options given below:

1. Aand D only
2.B and D only
3. Cand D only
4, A and C only

1 1

(2) 2

3) 3

(4) 4

@ d T o 3 YT RER AU § 2

A TR TGETRE |
B. $T GRJI TR LIS |

C. TS TITRE |
D. BTSN aeg TR S ¢ |

i feu T fomedl § O Ua IUdad IaR &1 994 HIfT:

1. Had A IR D
2. HadA B AR D
3. %aaCc ARD
4. FaAAARC

1) 1

) 2

3) 3

@) 4

1[Option ID=13313]
2[Option ID=13314]
3[Option ID=13315]
4[Option ID=13316]
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To find my way about in a village I ask a resident for guidance. Which of the following instruments of
knowledge is used according to classical Indian school of Logic (Nyaya)

1. Perception (Pratyaksa)
2. Similarity (Upmana)
3. Inference (Anumana)
4. Verbal Testimony (sabda)
11
@) 2
3) 3
(4) 4

U 9§ 39 AP &1 I & e 14 TRk gq U dHaril 3 OF ST | 6 YR 41 0d &
SR FEfEd O € 99 & (59 918 &1 WaeT a1 1§ 2

. Uc&d
JUHM

STTHM
e

B

) 1
) 2




3) 3
(4) 4

1[Option ID=13317]
2[Option ID=13318]
3[Option ID=13319]
4[Option ID=13320]
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Which of the following applications A-C are built on top of open-source digital platforms?

A. Google Earth
B. DIKSHA
C. MySQL

Choose the correct answer from the options given below.

1. Aand B only
2. Aand C only
3.B and C only
4. A BandC

1) 1

(2) 2

(3) 3

4) 4

%gﬁ@m&ﬂm(mﬁ%ﬁ%-@ﬁ%ﬁmﬁWﬁ$ﬁwﬁﬁﬁ

A TFTE 31 (Google Earth)
B. I&fl (DIKSHA)
C. 1T THEIUd (MySQL)

=g feu u fdoedl § O Ugl 3R &1 90 Bl

1[Option ID=13321]
2[Option ID=13322]
3[Option ID=13323]
4[Option ID=13324]
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Which of the following statements (A-C) are correct with reference to Web 3.0?

A. Web 3.0 technology (theoretically) puts user data and web content into user's hands.
B. Centralization is a core tenet of Web 3.0
C. In Web 3.0 world, block-chain based networks, transactions and businesses will thrive in the coming

years,
Choose the correct answer from the options given below :

1. Aand B only
2. Aand Conly
3.B and C only
4. A, Band C

1 1

(2) 2

(3) 3

(4) 4




39 3.0 & T # FpfafEd sy (a-0) AY I T E 2
A. 99 3.0 URNAS! (Fagida:) Wil S1e1 Ud de [auuasq & Wiadl &I Suds SRl ¢ |

B. FHITRUI 39 3.0 FT O G g |
C. 99 3.0 57T ST ANl H sdilep o W 31eIRd 4ead & YoHasR SR oAadd Bal-mai |

- fag e fawedt # 9 3l SR &1 79 ST

1. Had A 3R B
2. HAA A IR C
3. $9AB AR C
4. A,B3RC

1

() 2

(3) 3

(@) 4

1[Option ID=13325]
2[Option ID=13326]
3[Option ID=13327]
4[Option ID=13328]
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Given below are two statements :

Statement I : The inventor of WWW is Bill Gates.

Statement II : IPv6 protocol defines an IP address of 128 bits.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false,
4. Statement I 1s false but Statement IT 1s true.

11
(2) 2
(3) 3
(4) 4

EIECIER TR
FY 1 : 3o S S (WWW) & T HRS fad ea g |
PYF 11 : 3fMSUIdl6 (1Pve) TEoTd 120 fae & MeUl U9 &1 RN FRaTg |
QRIS DY & 3fTeiis 1, F1d U 710 faeedil § 3 el SR &1 997 BIe:
1. @Y 1 AR 11 &H I B
2. BUYF T AR ST A G
3. PYT 1A ©, Wb HYT 11 A B |

4. DY ITA 8, AP FUT I T B
(1) 1
@ 2
(3) 3
(4) 4
1[Option ID=13329]
2[Option ID=13330]

3[Option ID=13331]
4[Option ID=13332]
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Consider the following Excel spreadshect :

A B C D E F
1 3 5 1 2
2 2 3 5 2
3 4 5 7 2

What is the value of the formula = SUMIF(B1:B3. "=" & 3, C1:C3)

N
[=.=JE L R ¥ ]

(1) 1
(2) 2
(3) 3
(4) 4

fafaRad T SIseie | fdaR $if -

A B C D E F
1 3 5 1 2
2 2 3 5 2
3 4 5 7 2

A : =SUMIF(B1:B3, ">" & 3, C1:C3) @I II'I:TETTIT% ?

e
oo —1 Ln Lo

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13333]
2[Option ID=13334]

3[Option ID=13335]
4[Option ID=13336]
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Given below are two statements ;

Statement I : SWAYAM is a platform developed by Ministry of Education and AICTE to bridge the digital
divide among students.

Statement IT : UGC is a National coordinator of SWAYAM for non-technical Post Graduation education to
ensure that best quality content is produced and delivered.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT is true.

(1) 1

@) 2

3) 3

(4) 4




JH ey Rr M E:

DU [ : TOH (SWAYAM) BT & Aed {Sfed srmmal @1 91 &1 ulen & forg Rren darem iR
TATRIETS (SIHITRM) GR35 id Us Wewm § |

BYA 11 : YOIl TR-be110| HIdepIaR [R1fl & [RTY WaH (SWAYAM) P18 IH-a9% ¢ o gHiEa
1 Wb o wyatay T[uraargul favaasg &1 Fafor 3R weml @1 @i |

IRIGd HYT & ATe® 1, 319 50 70 e § 3 96 SR &1 99+ o ifeig:
1. PYT 1 3R 11 S T B
2. Y1 AR I ST AT S

3. PYT 1 T B, Ao PUT 11 3T © |

4. PYT IS, AT FU I T ® |
) 1
(2) 2
(3) 3
4) 4
1[Option ID=13337]
2[Option ID=13338]

3[Option ID=13339]
4[Option ID=13340]
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Arrange the following Earth's water compartments in increasing order of the amount of the water they hold.

A. Rivers and streams
B. Fresh lakes

C. Atmosphere

D. Ice and Snow

Choose the correct answer from the following options given below :

1A C.B I
2

b ele
Josie=Re
or
nog

da Lo

1) 1
(2) 2
(3) 3
(4) 4

gl & e SUEUS| Bl 31D GRIT YT Siel HE & §¢d $H H oudieyd HIU |

A, Afeyf 3R od-4RY
B.H@T_aﬁaﬁsﬂﬁ

C.
D;E\ﬁ?%ﬂ
= f3U U fowedl § ¥ Igl SR &1 994 Bifoig:

A.C.B,D
.C,A,B,D

1[Option ID=13341]
2[Option ID=13342]
3[Option ID=13343]
4[Option ID=13344]
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Given below are two statements :

Statement : I Municipal solid waste includes Garbage and Rubbish.

Statement IT : Garbage consists of both combustible and non combustible materials,

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement [ and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement [ is false but Statement IT is true.

1 1

(2) 2

(3) 3

(4) 4

TR APy R E:
B [ : TRUITDT & 3 IR T HS-aRPe (M) HR DI3-Pars (I FEea g |
BYT11: PS-GRBE 1 saeRia R e a1 Gl Sefid gid g |
SWRIad HYA & 3MTcile 1, 19 [3U e faspedl # T Ugt STk &1 997 SifTE:
1. FYTI AR I EHI 9 |
DY T SR T GHI S AT |

3. PYTITU S, AT YT 1 3T © |

[ ]

4. U ITA L, AT FYH I I E |
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=13345]
2[Option ID=13346]

3[Option ID=13347]
4[Option ID=13348]
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Given below are two statements :

Statement : I In many cases, both organisms and human infrastructure will not be able to move or adapt
quickly enough to changing climate,

Statement IT : Infectious diseases are likely to inerease as a result of global warming.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

(4) 4




TR Iy m e

BYA 1 : 3 TGl B Sild AR T SHGEE A1 gaad! siadrg & Ui 2y Sda a1 o 4
e el g |

BUT 11 : TllEd a1 (3% ) ¥ uRumReE 1 I A 3§ o F gua e |

SR YA & 3faie 4, 14 3T 70 el ¥ 3 95l SR &1 997 ifeie:

L FFAISNRIGH A E |

2. BY SR G A |

3. U7 1 A B, AP PYTII AT |

4. PYT A E, APT P I TR |
1) 1

2 2

(3) 3

(4) 4

1[Option ID=13349]

2[Option ID=13350]

3[Option ID=13351]
4[Option ID=13352]
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Major contributor to carbon monoxide emissions in metropolitan areas of India is/are:

. Industrial Sector

. Domestic Sources
. Transport Sector

. Agriculture Sector
1) 1

(2) 2

3) 3

(4) 4

YRA & HETFRIY &3 § B1e HHI eSS I 1 UE UrTEH [GHeT § 2

R

1[Option ID=13353]
2[Option ID=13354]
3[Option ID=13355]
4[Option ID=13356]
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Given below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R.

hydrogen powered combustion engines probably are not the future of hydrogen fuelled vehicles.
Reason R : It is more efficient to convert hydrogen energy directly to electricity using fuel cells.
In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. Ais true but R is false.
4. A 1s false but R is true.

1) 1

(2) 2

3) 3

Assertion A 1 Although internal-combustion engines used in today's vehicles can be adapted to burn hydrogen,




(4) 4
= & YA T U §: U SHUHYT (Assertion A) & F9 8 [AR@d 8 ol GIR1 39d HRUI (Reason R) &
R REE

HHUT A - TR SHOIHT & el H YO MR S-a6 To] 31 e85 SIoH &g & [l @i fpar
ST ISl ©, BISSIoH a-SMETRT g8 Su- SHTd: SI5g o s4- are-l & Hias el & |

PRUR : A U BT ITIN B GU BI5GIoH SHoll i Ule f[dggd § SUiaror &1 3iiU® & ¢ |
IRIF FUF o ATAF 1, AId S0 U [@edl H U ol 3R &1 98- ST |

1. A3RREA TUE IR R, AP TG TSR |
2. AIRREA ITE, AP R, AT TEI TS TR § |
3ATURAPAR 3T R |
4. AT APTR IR |
M 1
@) 2
@) 3
(4) 4
1[Option ID=13357]
2[Option ID=13358]

3[Option ID=13359]
4[Option ID=13360]
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While planning for higher education development in India in the twenty first century, the guiding principles
should be :

. Access

. Empathy

. Equity

. Accountability
. Quality

mdnweE

Choose the correct answer from the options given below :

A.Band E only
B.C.D and E only
A.C.,DandE only
B. C. and D only

1.
2
3.
4,
11
(2) 2

3) 3
4) 4

a3 gl Ual 8 YRd § 9= fen & faerg & fFaem & gag arfeeff feiql J fFufafad s= =
A, 3Ty

E. TG

1[Option ID=13361]
2[Option ID=13362]
3[Option ID=13363]
4[Option ID=13364]
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Which of the following ancient systems is focussed on laws of matter and force and of combination and
disintegration?

1. Vaisesika

2. Nirukta

3. Chhanda

4. Grihya Sutras
(1) 1

(2) 2

(3) 3

(4) 4

fFgfafaa & ¥ o9 T urdF gsia uerd 3R a9 9ur 9aieH ve f9geH & Fomi m et g 2
1. RIS
RERTSH

L bkJ

RSTY
4. 76

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=13365]
2[Option ID=13366]

3[Option ID=13367]
4[Option ID=13368]
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According to NEP 2020, what percentage of learners of schools and higher education system shall have
exposure to vocational education by 2025.

. 40% of learners
. 50% of learners
35% learners
30% learners

=

da L

(1) 1
) 2
(3) 3
(4) 4

TART 2020 F SR, Wpal 3R I Il USld & Siidmmedisi 1 a1 Aia=rd ay 2025 dP
AR FRI&T | 24fi g 2

. JfferTHE A3 BT 40%
. TSl BT 50%
. TS A3 BT 35%
. AferTHEatsl 71 30%
1
) 2
@3) 3
@) 4

B O I

1[Option ID=13369]
2[Option ID=13370]
3[Option ID=13371]
4[Option ID=13372]
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Which of the following are the characteristics of non-conventional learning ?

A. No fixed curriculum

B. Teacher-centred learning
C. Cost-effective

D. Require regular attendance

Choose the correct answer from the options given below:

1. Aand D only
2. Aand C only
3.B and C only
4. B and D only




1) 1
(2) 2
(3) 3
(4) 4

e & 9 IR-IRURS ifers &t fa¥mard sH € 2
A 1 (YT ureT=a T8t

B. Rigid-ofad sifam

C. ANTG-UId!

D afEd SuRld &1 SHiazgs BHl

A=t fGu o Taeredl & & WL A @l gh ehiforg:

1. Had A IR D
2. FadAARC
3. %adAB AR C
4. HAAB IR D

1

) 2

3) 3

(4) 4

1[Option ID=13373]

2[Option ID=13374]

3[Option ID=13375]
4[Option ID=13376]
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The Sanskrit-Sahitya parishat whose aim and objectives are to disseminate Sanskrit learning and research in
different branches of indological studies and to store and maintain the ancient Indian cultural and glories of

India was established in the year :

1. 1906
2.1916
3. 1964
4.1961
1) 1
(2) 2
(3) 3
(4) 4

P d-HIe-aRYE [T 3539 I5d SO &1 YR IR URd [der daef sremme o fafie wmarsi
H HY YUl U YR Fipiae SR YR & T1Ra &1 990 qul SR T, 3961 70T 59 ad

RIS

. 1906
. 1916
. 1964
. 1961
(1) 1
) 2
(3) 3
(4) 4

[ SR

S 51

1[Option ID=13377]
2[Option ID=13378]
3[Option ID=13379]
4[Option ID=13380]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

e &l 1 TeTadr = & (AU SeR 1 PR & HUal 35 &1 PA] Aled 2 TS Arll 3 e
B Y1 o1 qUF I & AT aRi-ame, FATE (HER) SiUal HEd ol EU [G1Y SUA] R gHS]
B 3R 58 WY B & YTW [HFUE | T8 Iex & 39§ §AR SIaeR & AN 8 54 Ul &l
3T el § IR WIUfHE 39 # 371 90 56 U X% @S 51- &I adia-l qal g | SH sy Haea s f
2R GRI RIg@ 1 (eeifNad) 7ai 8 S/fdd 3udl Sugad GraH SE1 & JrgH &I alid &R Gl
T | gl SR URFAHS 1 TealSeR BT 1 Jad B & Dol 3R 38 3 T s & Y
T & OTU ORI 3 B 10 PR © | S99 [AaaATe s e Rd 3t @ ol 8 o 1@ & mieR
B gera Ui var § e SR Rrendf & woF ufqurh &9 ot ad sear g | Ui G & o
T T P Pt wafid B e Yeaied B SaHang s e RR a1 | i s
31 910 9% © 190 U 2 8URT U8 AF1ERA dl &34 © 1o 64 &1 T8l &1 9oy R 59 Jey H 0= ¢ &
B I BT A1 | TG SR odel d519 Hd 4 8¢ 91U 3R 391 fadexiiaal & oo [aari &1
gﬁmw%?%@ﬁaﬁ%whaiﬁﬁuuldlﬁ?ﬁﬁﬁ:{ﬁﬂﬂﬁaﬂamﬁamﬁﬁ%?ua@
YT © |

What has been done to describe the role of online tutors?

1. Add value to their guidance

2. Provide them with a warning system

. Clarify their duties in fields other than education
. By adoption of certain metaphors

1) 1

(2) 2

(3) 3

(4) 4

SHATEA ee™l & YfHe & auiH & fad @1 faar T g 2

1. 3% ATieRH & Geaad far o |
2. 3% FTaH! WOE TeH AT
3. 27 @ sav &4 § 399 Bdodl &l WY BT
4. BIA99 FYD]| DI AT
11
(2 2
(3) 3
(4) 4

N ]

1[Option ID=13381]
2[Option ID=13382]
3[Option ID=13383]
4[Option ID=13384]
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.

Fafefad e of ufed iR Uy &1 3| 2T |

e &l 1 TeTadr = & (AU SeR 1 PR & HUal 35 &1 PA] Aled 2 TS Arll 3 e
B Y1 o1 qUF I & AT aRi-ame, FATE (HER) SiUal HEd ol EU [G1Y SUA] R gHS]
B 3R 58 WY B & YTW [HFUE | T8 Iex & 39§ §AR SIaeR & AN 8 54 Ul &l
3T el § IR WIUfHE 39 # 371 90 56 U X% @S 51- &I adia-l qal g | SH sy Haea s f
e GRI RIe@ 1 (eeifNad) 7di ¥ Sfdd udl Sugad GFeH S & JHgH S aldd &R addl
T | gl SR URFAHS 1 TsalSeR BT &1 Jad B & Heod 3R 38 3 AT s & Y
T & OTU ORI 3 B 10 PR © | S99 [AaaATe s e Rd 3t @ ol 8 o 1@ & mieR
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What will inhibit student's contribution to tutorial discussions?

1. Too much contribution of the tutor
2. Disruption during tutorials
3. Internal divisions
4. Qutside intervention
(1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The rhetoric of moderators has the intention to :

1. Displace teachers from teaching
2. Liberate students for their own learning
3. Strengthen the authority of teachers
4. Avoid eritical pedagogy
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(2) 2
(3) 3
(4) 4
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The discourse of participatory learning may result in:

1. Abandonment of the online tutorial system
2. Vigorous student protestation

. Emergence of dos and don'ts guidelines

. Supervisory role of students
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(3) 3
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The passage is an analysis of:

1. The traditional educational system
2. The new assessment methodology
Indian vocational education
Paradoxes of online tutoring.
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